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You have been calied for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. WA-U, 80 SRSt ¥ Yoy TRA-GRRAH % FUA ¢ AR e A 3afy 02 W |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. wﬁwﬁa%aqﬁwm*mamﬁaﬁﬁmwmm#mml

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. YRAF W HiaT 04 3w gt T wAF I Ica FfAT TFH 3iF FHIer 0 |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. el & 3ea & & FoIw 37T HTHINR Secr-g et & ey
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
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You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7.  UH U & TIU 3eieh 3R ITdd AT ST |
Multiple answers for a question will be regarded as wrong answer.
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Question booklet code printed on the top right corner should be written in the OMR answer sheet in the space
provided.

9. WRA-YREART & JTUSHT ATH T HThaAlT el o |

Enter your Name and Roli Number correctly in the question booklet.

10, ITANR Scae-qfeas 7 el ufafSeat Areftareh e & @i age 47 & & & I @ifge)

All entries in the OMR answer sheet should be with blue/black ball point pen only.

1. odreT gier # fodreres & 3ufPufa 37 € 3oy gla-feahe/mIRITn® W gEdRR FRar aifgu|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

12. T olen gasar #id & e He, Paghecd, ARG Bl T3l Jed SAFel s JLd, Y-
qEcth, AlE AT ATt Y HTAT TET & SmUat |

Computers, calculators, mobile phones and other electronic gadgets, text books, notes efc., will not be
allowed inside the written test hall.

13, o 99 A W, HUHANY Ie-IRETsh Ft S & dee fre § v 3R 77 A ser-aftas
ot ; f :

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, eaT-qfeaet srerdt e T T W B |

The question booklet can be retained by the candidate.

15, 1T & U © F SR 31t Y qlieT gl Bige i AT 7 B

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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dRANRTT — € EAFeIa® Ahia®)-9€ . 1391 TF 1407

TECHNICIAN - B (ELECTRONIC MECHANIC) - POST NO.1391 & 1407

1. Aol IRTAT IR9y & S OIS O3/At resonance of a series RLC circuit,
(a) &iaT gfaerd, 9foRy & A §

Capacitive reactance is equal to resistance
(b) wiar ufaerd, RO gfdara & a& 1 B
Capacitive reactance is equal to inductive reactance
(c) eniar ufcEna, =T g
Capacitive reactance is zero
(dy eriyar ufaara, WRies gfdera qur afady & s & A= 81

Capacitive reactance is equal to the sum of inductive reactance and resistance

2. UHA-YHR Iearers H 9= & fov Aol & arr S Searel g ... !

Impurity to be added to silicon to make n-type semiconductor is

(a) 3 dAF/Arsenic (b)  INTATH/Gallium
(c) UHfATATA/Aluminium (d) SRTA/Boron
3. 555 IS H ATH ITFAT FAT §/What is the main application of a 555 IC?
(a) 1fO/Counter (b) THA HIGIH/Timer
(c) F_I}FIﬁ':l‘/Comparator () SSYFH/Amplifier
4., UTIASI YFHIT H 3cHa dd Il g, o9 @E..... 81 &/An LED emits light when it is
(a) AT dTH/Forward Biased (b) kA dITH/Reverse Biased
(c) HEIH/Unbiased (d) ST A HIE 3 A€/None of these

5. U&k JAATAGH SIS #T aleedr & &weldl...§/Cut in voltage of a Germanium diode is
(@ 0.7V (b) 03V © 12V @ 1V

6. wﬁagaﬂiﬁ#%vmmgmﬁw%?

Which is the most desirable property for an insulator?
(a) 3=9 Taggd AfFd/High dielectric strength

(b) I=T A9 ATeARA/High thermal conductivity
(¢) 3=a IifAF AfPA/High mechanical strength
(d) 3I=* ‘i%a:g?r dATelshdl/High electrical conductivity

B | 3 1391 & 1407
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7. fAefef@a # 4 #iq4 & gug W &7
Which of the following is an impact printer?
(a) oo Riet/Laser printer (b) 31 #feFq BTWDot matrix printer
(c) Shaic et/ Inkjet printer (d) & 3¢ FT/Bubble jet printer

8. f=ifafda & € S tF R Scgs aifeufadr a8 &2

Which of the following is not a common network topology?
(a) <I&TH/Star (b) dclI/Ring (¢) sd/Bus (d) ST «ﬂEIFIT/daisy chain

9. WY 3TU Aiehamdlel Hid HidT-T §?

Which metal has the highest conductivity?
(a) H=ATGold (b) dTE/Copper (c) ®E/ron  (d) TEVSilver

10. famfof@a & & &l @ fagga-A & 3°9 A H Fga H AR &7 82
Which of the following insulators has a better capability to withstand high temperature?
(a) FAA/Teflon
(b) difaifaaATESe FARTSS/Polyvinyl Chloride
(c) dohaile TAEG-e IS/ Vulcanised Insulated Rubber
(d) PETA/Paper

11. T aregell # UTHd T9g F THsa & [ov 39T v Setareh iGR fafer wia-dr &2

What trigger mode is used for capturing a single pulse in an oscilloscope?
(a) TEd/Auto (b) HTYRYT/Normal
() HR/Edge (d) TIOT/Step

12. V27 —-V1IZ+3V3=.........
@ 43 () 3V2
() © (d 2V3
13. 1.5V, 2Ahwtm§0mmmmﬁ§¢ﬁmﬁ®aﬁﬁaﬁmﬂrm

6V deq & 4Ah & FohaT &7
Which of the following configuration can give a battery of 6V, 4Ah using cells rated at 1.5V, 2Ah?

(a) ‘%BEFIT # 4 WeA/4 cells in series

(b) THIGX H 4 Be/4 cells in parallel

(©) ‘%EIF{T H 4 QAT F1 2 FHTGR ITFAHI/2 parallel rows of 4 cells in series
(d) ’SlEFIT A 2 QT $r 4 FATER 9fFaar/4 parallel rows of 2 cells in series
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14. few oiv qRgy & s A 3 B & &9rr g wfddy &1 gar «endy

Find the effective resistance of the given circuit between terminals A and B

1000

AN
A o il:.:g
Sy Y W—
1000 1000
3000 3
2000} 2000y
B o
(a) 1050Q (b) 150Q (¢} 600Q (d) 300Q
15. wuH g gfaf® .. &/An AM demodulation technique is
(a) Fearelrq lﬂiﬂ:ﬂﬁlEnvelop Detector (b) T TR T2A/Phase Locked Loop

(c) &Ahcl {i{iﬂqa/Quadrature detector () IeTare 'Giﬁ\?ﬁﬁlRatio detector

16. sinx & ST H cosx HT JNdHeAA........... =

Derivative of cosx with respect to sinx is
(a) cotx (b) secx {c) —secx (d -—tanx

17. & 12V vHuAdTE & R & i giaa gafa dededt & garr AR sfaa
TAGYR e AT 3AH & W@y Affaey har smar 1 giaaeet & offig oo &9
T gem?

The output of a 12V SMPS is monitored in an oscilloscope with AC coupling enabled and with
appropriate setting of time base and amplitude. What will be the waveform observed in the
oscilloscope?

(@ oV

(b) 12V 312V DC

(c) SIAFTF T 12V A/12V DC with ripple
(d) Fad FAESVRipple alone

18. 270°C & 1700°C WH # dUAA & #AY = & fov Hefof@a & 4 a98 30ga

T 87

Which of the following is most suitable for measuring temperature in the range 270°C to 1700°C?
(a) mtr-aay;-r YIA/Thermocouple (b) HRESYRTD

(c) dTdY 9faRIeeh/Thermistor (d) AY-dETd G/ Thermopile
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19. TH Y T F T Hhd & AlSa O 3 9R9Y #F A7 90 59 g W 3EHT
e TR a{aT 3R H aRafdd e f@ar g & | g

Name the circuit used to add a DC component to an AC signal so that its positive peak coincides
with zero without changing the wave shape.

(a) Haw/Clipper (b)  SEH/Clamper
(c) feseadmli/Rectifier (d)  FFAF/Chopper

20. TTHROT TIMET TEIT H Sl ar ofser ... |

The DC current gain in common collector configuration is

(a) o (b B (c) B+1 (d o+l

21, 2cm’ &A% T glhT 200 pWh T TRAE TshaACT FaT &1 HiAaE gvdca forgar &2
A flux of 200 pWb passes through an area of 2 cm®. What is the flux density?

(a) 1T Tesla (b)  19M3H/1 Gauss
(¢} 0.12HaAT0.1 Tesla (d)  0.19m38/0.1 Gauss

22. 3 3AYC NAND 3¢ &l HT3eYe, difsis 0 W §1 NAND 31T & 3+9e (A, B, C) &.......
The output of a three input NAND gate is at Logic 0. The inputs (A, B, C) of the NAND gate are

(a) A=1,B=1,C=0 (b)  A=0,B=0, C=0
(c) A=l1,B=l,C=] (d A=1,B=0,C=I

23. ol NG arer F & faArgee & fav gged fFam ST dehar &
A Phase locked loop can be used to demodulate
(a) 3IEH ﬂu'lg’ﬁl?l' Hehd/Amplitude modulated signal
(b) TIEHE Fﬁ?ﬁlﬂ' Thd/Pulse code modulated signal
(c) 3-]'@1%?[ Hu'l'g'@?f Hahd/Frequency modulated signal
(d) TUE HTH Fﬁ'g’ﬁ?—f Hhd/Pulse Amplitude modulated signal

24. 8051 EH foww A ... 16 fae Aawex g1 81

8051 micro controller has ------ number of 16 bit registers
(@ 0 (b) 1 © 2 (d 3

25. 1.8V Feldr dieedr I UF TALZE H UH 1 kQ IERUF arell 12V acag d FEr a13r &
A Ao & T 39T E| Tass! & R-UR YaIfgd URT & IRFd Hiferv|

An LED with cut in voltage of 1.8V is connected to a 12V supply with a 1 kQ resistor. Assume that
the LED is glowing, calculate the current through the LED

(@) 102mA (b) 12mA € 18mA d) OmA
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26.

27.

28.

29.

= |V

PraffRd & ¥ #I7 v I Ao gerd FE §

Which one of the following is not a conformal coating material?

(a)
(b)
(€)
(d

few 1T 37eel AfRaTcHS YaUE gRUY & A5 A # diecedl F UdT TS|

Find the voltage at node A in the given ideal operational amplifier circuit.

(@)

B IGCG tﬁl’ﬂ/Silicone Resin
viferRrfFaferelisl/Polyparaxylylene
ﬁﬂﬁ'ﬂi’iﬁﬂ' ITA=1/Polyurethene Resin

gifareaFeRIsdeliel/Polytetrafluoroethylene

1k
A-‘v‘v

1x0

w0 AN — o
+

-

ov (b) 1V ©)

GET IT ON
Google Play

TE THEEE F URY B % T 200usec 3T d¢ g & fAT 800 psec FAA ST &

~

A pulse train has 200usec ON time and 800 psec OFF time. The Duty cycle is
10%

(a)

) v av gy #r ggmifAw/Identify the circuit given below

(@)
(b
(©)
(d

25% (b) 20% ©)

Vi

Iwfadides Tatie/Non inverting amplifier
yfAeiA® yatid/Inverting amplifier

e fgaR/Schmitt trigger
HHTH TR/ Integrator

— Vo
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30. 5600Q, + 5% AR FH JUT HZ F4AT §7
What is the color code for a 5600, + 5% resistor?
(a) =i, B9, T, 'FdU‘f/Blue, Green, Brown, Gold

(b) e, ST, AT, TE)/ Yellow, Blue, Black, Silver
(c) e, e, e, Taol/Yellow, Blue, Black, Gold
(d) &, e, T, E’U‘I'/Green, Blue, Brown, Gold

31. WISY MUY H&IT AB &I TAJeT SUHAAT FT §?

What is the decimal equivalent of hexadecimal number AB?
(a 21 (b) 125 () 171 (d) 1011

32. IRHT IaFes IRUY SEaT -8 e G H1 fasaes frar smar §2

What filtering function does an RC differentiator circuit perform?
(a) &3 9”&/Band pass (b) =T URS/Low pass

(¢) 3= Yh/High pass (d) dZTH/Band stop

33. A+AB T TSI ... & AW g/The Boolean expression A + AB is equal to
(2 B ®) A © A+B @ 0

34. UH AR-FFR, - 3BT aRuy @ geaEa Il F ae 9fadt & a2

How many rows are required in the truth table of a four-input, two output digital circuit?
(a 16 (b) 8 (cy 4 (d 2
35. 0 ¥ 255 d% & WiE A cUfAd d&ad & gfdfaftca s & for Faar et &

TR &7
How many bits are needed to represent decimal numbers in the range 0 to 2557
(@ 2 (b) 4 () 6 d) 8

36. drshe (akT Firs =p) 4%fei & fow Fwafarea & @ Slaar wd &
Which of the following are true for BGA (Ball Grid Array) packaging
(i) 3<u O g=Tca/High pin density
(i) AT arfiT 9iaUU/Low thermal resistance
(iii) fo¥FT HIET WFcd/Low lead inductance
(iv) FTHA Weaiel/Easy solderability
(a) ad (i) / (i) only (b) ad (i) UF (ii) / (i) and (ii) only
(c) A (i), (ii) U (iif) / (i), (ii) and (iii) only (d) (i), (i), (iii) TG (iv) / (@), (ii), (iii) and (iv)
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37. UF AR & yadf FET o 30 F ¥ faT g9 Far Jrar gl

The sweep generator of a CRO is used to produce
(2) ForFgle fRoTat & aifcrst faety g aof ader

Square wave for horizontal deflection of electron beam
(b) ForrgieT RAROTYT & Feaier faed &q & adar

Square wave for vertical deflection of electron beam
(c) Forgie RO & AT fareta & 3TRIeT i

Saw tooth wave for horizontal deflection of electron beam
() FoEgIT fERoTdS & Ftaler faeiy 8 ARG ar

Saw tooth wave for vertical deflection of electron beam

38. W-UsT G &I gy &1 &d de7al 87

When is the Depletion region of a p-n junction formed?
(a) TS TUAT & ATW/Along with junction formation

(b) e s1aw % ERT=T/During Forward bias
(c) dT9a & GHI/During Heating
(@) 9% I & gRI/During Reverse bias

39. duadr gifoeey & Icwed A UHA dEF ... gl

In the Emitter of a PNP Transistor, the majority carriers are

(a) sAgiA/Electrons (b) R}\T;ff?fll\leutrons
(c) gTel/Holes (d) WeiA/Protons

40. 3T AT F T U gioEe yauF # FeAfai@a Ag wed ¢
9T ufaRier = 1 kQ, F3eler ufaRIer = 10 kQ, €y AfeRT = 901 ST THoT 0 GgaifaAv|

A transistor amplifier with proper biasing has the following measured parameters
Input resistance = 1 kQ, Output resistance = 10 k<, Current gain = 90.
Identify the biasing configuration.

(a) IHATASS AF/Common base b) 33TASS Iedoteh/Common emitter
() IHATASS HATE/Common collector (d) gifoiaresT g7H/Darlington pair

41, 3@ 25°C 9T U QS oraE #F odv 9’7 3nA &, @ 45°C W 9fawd gaig omr

gt gl

If 3nA is the reverse current of a Silicon diode at 25°C, what will be the typical reverse current at
45°C?

(a) 3nA {(b) 6nA (c) 9nA (d) 12nA
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42. UH HEY TEEBIAT FT T AU (TABF : faciigen) Fhder glar @i orad 1200
Al wfaerar & e vl dleear A o HiSwaH AfFd HoROT & 1Y 30Q A &
ST ST |

What should be the turns ratio (primary : secondary) of an ideal transformer to connect an AC
voltage source of internal impedance 1202 to a load of 30Q2 with maximum power transfer?

(a) 14 (b) 4:1 (cy 1.2 (d 2:1
43. 1 FAH ............ SolFell T HA & |
1 Coulomb is the charge of electrons
(@) 6.25x10'® (b) 6.25x 10" () 625x10" @ 625x10"

44. 100 mW T R9F & e Heg yats & 10dB afey & ve ofdd vatied & @iy
duifad (FaFs) forar o &1 [ afda feaer g

An audio amplifier with power output of 100 mW is cascaded with a power amplifier of gain 10dB.
What will be the output power?
(a) 100 mW (b) 200 mW () 1W d 10w

45. 2cm WS TAT lom’ IHTAREBE 8T & U WA FEa5 Hr AfAH F F9W T 97T 100
ORI Y TF FN F IRehed HT Il T (ARG T IRIFAT o = 47 x 107 Wh/At-m)

i Find the inductance of a coil of 100 tums wound on a hollow cardboard tube of 2cm long and cross

sectional area 1cm?. (Permeability of air po = 47 x 10~ Wb/At-m)

(@ 628x10° H (b) 3.14x107° H

() 628x10° H (d 3.14x10°H

46. fA=faf@a d @ =9, Fugsdl yatis F1 daor 2

Which among the following are the features of push-pull amplifier?
(i) T ERERRoT

Noise rejection
(i) 50% W HOAF &I S HhaAT &

Can give efficiency of more than 50%
(iii) T3 & TR0 & Faepfor 8T Fepchr &

~ Output may have cross over distortion

(v) foeta & goces Rsfa s awdr g

Output may have harmonic distortion
(@) Fae (ii) TF (iii) / (ii) and (iii) only (b)  FaA (i), (i) TF (iii) / (i), (ii) and (iii) only
(c) hael (i) U4 (iii) / (i) and (iii) only (d) (i), (i), (iii) T (iv) / (i), (ii), (iii) and (iv)
47. AP 2, -2, -6, ... & 10a 9T ..... /10" term of the AP 2, -2, -6, ... is
(a) 56 (b) -64 (€ -34 (d 25
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48. 10cm x 10 cm T a1 Ui et & g i aikar & aRewad AT B 1om A o
Me & gufhd forar amr 81 @ $r Regaeliedar 8.85 x 102 Fm 3R sama & 3mifgrs
fegaierd 5 &)

Calculate the capacitance between two metal plates of 10 cm x 10 cm, separated by 1cm thick glass
sheet. (Permittivity of air is 8.85 x 10”2 F/m and relative permittivity of glass is 5).

(a) 44.25 pF (b) 44.25pF (c) 44.25nF (d) 44.25F

49, ﬁmmqﬁquﬁ#um?ﬁmgﬁrmrﬁmm%?mmdmw% T dieedr
A o e av

What is the total charge of capacitors in the given circuit? The capacitance value and their
corresponding voltage ratings are as shown below

Sl TS~ - 20|
100V 150V 200V
(a) 825 x 107 FH@dA/coulomb (b) 5 x 107 FHeAA/coulomb
(c) 0.5 =107 FeliA/coulomb (d) 82.5x 107 FHeliA/coulomb

50. SI=h=] F THF Sidh P9 Folld T Hlolg A 100 kHz €1 FF 9t .....8
A JK flip flop with J=K=1 has a 100 kHz clock input. The Q output is
(a) % 0/Logic 0
(b) &% 1/Logic 1
(c) U 100 kHz F3T ARaA 100 kHz square wave
(d) U 50 kHz 37 d39T/A 50 kHz square wave

51. 50Hz T ¥eeig Higfea & HRUR, 3Q gfqwrd & & v §UAT &t sf@ar # 4Q &
T AR & W S A ) Afed IOIE F I s

A capacitor with reactance of 32 is connected in series with a resistor of 4 Q across a supply
frequency of 50Hz. Find the power factor

(@ 0.75 (b) 06 () 08 @ 09

B 11 1391 & 1407


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

52.

53.

= |V

54.

T av amuedy afkwy & gfderer aRAor & g1 wEme|
Find the magnitude of impedance of the given RLC circuit

R=50 X1=150 Xc'-?ﬂ

240V ,50Hz

A

(@ 13Q (b) 23Q © 5Q

(d)
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18 Q

A e v R F HFAR 3V ITH & U T e H RC IRIY & gagera fman

T ¥ SR IRH & FRRT & g9 t=2sec W H deear v,

A square pulse of 3V amplitude is applied to an RC circuit as shown in the figure below. The

capacitor is initially uncharged. The output voltage V, at time t = 2sec is

Voltage

w

S Tinae

(@) 3V (b) 1.89V © L1V

A BT 71U gF IRUT & $oAdT FI 9ghriav]

Identify the function of logic circuit given below

A li>° ‘—D—

—p i

(a) XNOR (b) AND (c) OR

12

(d)

(d)

Y

B L=
;D— OUTPUT

XOR
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55. T & oiig 9foRies Ry &1 3afta fr o geaare) 3fsas afsa

56.

57.

58.

= |V

gl

The maximum power that can be transferred to the load resistor Ry in the figure is

(a)
(b)
(©
(d)

1k

sV

AN

1 mW
6.25 mW
25 mW

e &7 fovam ST @&al/cannot be determined
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& CE Y& # it & TUE & U6 Re At & ATCIGH ¥ TS Vee ¥ Sier
T Bl PR 3cHow A HEURRG R Sar &, O g f AW |z wee, el

HRRIONF F Y 36T F frg g o IroRiTeT w §

A transistor in a CE amplifier has its collector connected to the supply Vcc through a resistor Rc. At

what point does the DC load line of the transistor intercept the Y axis of the output characteristics,

if emitter is grounded?

(@

Vee (b} Re

©

Vee/ Re

128 FReNaZe &TACT I Sid g7 & AT fFder 16K x 4RAM H & gt
How many 16K x 4 RAM are required to have a memory with capacity 128 Kilobytes?

(a)

32 by 16

(©)

4

3 Wh/sec &X W 3R TH 100 By 1 Fzell gahig Jo0-3@r I Fieah §, ar IR deear

=1 gief?
What will be the induced voltage if a coil of 100 turns cuts magnetic lines of force at the rate of
3 Wb/sec?
(a) 300V (b) 3333V (c) (d) 100V
13 1391 & 1407
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59. 3WR algsh @ AfFa 100w IR Agas Fr oA 80% &, ar 3w #Higlda yomelr &
Ufa aer & AfFa 1 aiewds AT |

Calculate the power of the transmitted wave in an amplitude modulated system if the power of the
carrier is 100W and the depth of modulation is 80%

(a) 100W (b) 180 W
€ 132W d  200W

60. 1:4 T AU F WY UH MG dleeal Ivurdll TEAREN H gRdRE w100 A\
3R wfRias & IRIR 120V &1 rafds arr fhae grefe

An ideal voltage step up transformer with 1:4 turns ratio has 120V across 100 ohm load resistor at
the secondary. What will be primary current?

(@) 12A (b) 4.8A
© 03A d 18A

61. 20 ofey & WU F 3TANT HA §U T QI H aed FA & v smeavasw wgead
Prede FRF Rhcen glar aee?

What should be the minimum feedback factor to realize an oscillator using an amplifier of gain 20?

() 0.05 () 1 © 105 @ 20

62. VTSl & FRUR 20V T dleeal o & AU 0.8 FolA HQAA A UT @A TH
i Fr aiar el geie

What is the capacitance of a capacitor that requires a charge of 0.8 Coulomb to build a voltage of
t 20V across its plates?

(a) 16F (b) 0.04F () 2.5F (d) O0.08F
63. 8038 Welel Ffeld GART 3cdeed AT & A AR oo el

The frequency of the waveforms produced by 8038 function generator is

(@ 0.33/(RC) () 1.2/(RC)

() 0.33x(RC) d 12x(RC)
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64.

65.

66.

67.
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50 SIET $T TFH FET FT WIcdiH %:Iln a class of 50 students, the marks obtained are

37%h/Marks 15 [30 [37 |40 |45

43

BTAT &I GEAT/No. of students 2 |8 14 (12 |10

AT HATET ....... ®/1ts median is

@ 37 (b) 40 () 45

Ifiel i TEIns goneh # qed Afdaw # gfae LR

In SI system of units, the unit of magnetic flux is

(a) dE/Weber (b)  IM3H/Gauss

(c) HFTEIT/Maxwell (d) g l/Henry

(d)

38.5

FR F A INEIRS URT F FROT EADHT § @ arell Foir &fd &

FEd Bl

Energy loss in a transformer due to circulating current within the core is called

(@) NVex afd/Hysteresis Loss
(b) S URT Hﬁ/Eddy Current Loss
(©) HR '\“IF[EF\' &3fa/Core Saturation Loss

(d) T &1fA/Copper Loss

52 T & Yool & U H T UFH arel & Gcd & T SAGT &1 390 0D & g ¥ 3=

¥ 9T & Yo & AT Ahelsy H GHEAT.............. T

A card is drawn from a pack of 52 cards. The probability of getting a queen of club or king of heart

18

() 1/23 by 213 © 1726

15

(d)

1/52
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68. AOH & TIY 3ATAS H AT ... y

Conductivity of semiconductor with temperature

(a) Foal/Increases

(b) ®TAlDecreases

(¢c) HYIYRGAA A&l &ld/Does not change

() ¥ aeeos uRads ga/varies randomly

69. Uiy yfdAY F ANYH T IIIOT

Instrument used to measure Insulation Resistance

(a) EE'HW[Multimeter
(b) FIR/Megger

(c) ARFIAI/Power meter
(d) ﬂﬂﬂ?—f =) ﬂ-ﬁé’ it F€/None of the above

70. ¥a-$efAas Aa & aAT FF aeedar..... gl

Nominal output voltage of Nickel-cadmium cell

(@ 120V (b) 150V () 185V d 3.6V
71, Sfaersar @ e ... ®/The unit of resistivity is
(a Q (b) QOm {c) Q/m (d) m

72. @& RO wRuy & gAw Rwis i ofenwr §, ooy arr 1 3w sifan
Rufy 7 & ... (crTHeT) wfaera d% dgn & faw afea aaa

The time constant of an inductive circuit is defined as the time required for the circuit current to rise

to % (approximately) of its final steady state value.
(a) 63 (b) 90 () 37 (d) 100
73. U AGA-5 FER F AU @A Torg-grardl i sgFATH TE&A e gl

The minimum number of flip flops required for a Modulo-5 counter

(@ 3 (b)y 4 ) S5 (d 32
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74. a?z-‘raa?;crmm:laﬁrwm&?a:aw"nﬁﬁloowaﬁrﬁmramﬁmmm%a

75.

76.

77.

78.

79.

80.

foeTe 4Ry fraer gefre

In an ideal transformer of turns ratio 10:1, if the input power applied is 100W, what will be output power?
(a) 1W (b 10W {c) S0W (d) 100W

fArafafad # @ wla-ar v wwuRd (ToRIfT vtezfad) der ag §
Which of the following is not an SMT (Surface Mount Technology) package?

(@) THAHSE/SOIC (b) FITHR/QFP
() WSIT/PGA (d) FYTHTA/QFN

TAAISIEr a1 §/What is an LVDT?

(@) U FTcRIY AT YOTell/A resistance based system
(b) T 3T JoTell/Capacitive based system

(c) Oor 3R womel/Iinduction based system

(d) 3 U FIS 8T sTE1/None of these

dir dor & gfawdr garr......... &/ Typical efficiency of a solar cell is
@) 5% ®) 15% © 5% @ 95%

Arfafa 7 @ la-a1 gwor AFw, vafea ser @ & arda war B
Which of the following transmission media supports the highest data rate?

(a) ATl IRRETSH YadA/ Twisted shielded pair

(b) cHTEfcicl 39RRETH A/ Twisted unshielded pair
(c) |HETT FaA/Coaxial cable

(d) TS BIEE/Optical fiber

srIfAs® T efadas aRudt & @7 eafaf@a & & #la qusa g &an

Which of the following will not provide isolation between primary and secondary circuits?

(a) 3Ter m’q?mT/Auto transformer

(b) ERT EFHIAR/Current transformer

(c) TR aleear g=awiFR/Constant voltage transformer
(d) TUE T=ERH/Pulse transformer

391 sinf + cosd =2 cosg, al tang & &AW ............. g

If sin@ + cos® =v2 cosf, then the value of tan@ is ............. ?

@ V2 ® 1 © VZ-1 @& VZ4
17

-1
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